
FOR  1/4"
LAG SCREW

FOR  #10
LAG SCREW

PILOT HOLE

PILOT HOLE
FOR  1/4"

LAG SCREW

PILOT HOLE

Height of Bike Cross Bar

WHAT YOU WILL NEED

7/16” Socket
8” socket extender 
Ratchet
Scotch Tape
3/32” drill bit
Drill

Stud Finder 
Tape Measure
Felt Tip Marker 
Pencil 
Phillips Screw Driver

(1) Bike Bulldog
(2) 1/4” Lag Screws
(1) #10 Lag Screw
(1) Instructions
(1) 8” Extender
Alarm Fob
(3) AAA batteries

WHAT’S IN THE BOX

Center Line of Stud

For additional tips, visit www.bikebulldog.com/install

QUICK START GUIDEBIKE  
BULLDOG



BIKE  
BULLDOG

INSTALLATION

Step One: Locate the stud you will be mounting on. Measure your bike’s cross bar and 
tape the installation template to the wall using the center line & height of bike cross bar 
to guide placement. The center line needs to be aligned with the center of the wall stud 
or other immovable object the Bulldog is being attached to. The center line indicates 
where the cross bar of the bike will be while cradled in the Bulldogs’ jaws. You must 
install the unit no lower than the height of the cross bar in order for the bike to fit into the 
installed Bulldog. 

Step Two: Using the 3/16” bit, drill the 3 pilot holes per the template. Then remove the 
template from the wall.

Step Three: Using the 7/16” socket, install the 2 lag screws into the top 2 holes until 
they have approx. 15/16th of an inch or 5 threads showing. Next, install the #10 Lag 
screw into the bottom, leaving it just short of being fully seated.  

Step Four: Remove the saddle. Then slide the bulldog over the lag screws at a slight 
angle and slide / lever down. Ensure the #10 screw is inside the bulldog. Then simply 
tighten the lag screws. Finally, pull the tape from the battery compartment of the alarm.  

Watch the Install Demo at www.bikebulldog.com/install

Q
U
I
C
K

S
T
A
R
T

G
U
I
D
E


